SCIENCE MOST IMPORTANT QUESTIONS/SAMPLE PAPER 20

1. Brass is an alloy of—

dicTer feharehT T arg © -
1. Copper and Zinc /dm&T 3R SI&EaT
2. Copper and Tin /dieT 3R fea
3. Iron and Zinc /33T 3R &5

4. Copper and Iron /dm&T 3 &ligr
Explanation :Brass is an alloy of copper and zinc.

Aol dieT 3R STEdT & @ g gl

2.What is the chemical formula of “Sal ammoniac”?

"HIel AT T THRS FT FAT 82

1. NHACI

2. Na2B4
3. NH4Br
4. Na2Br3

Explanation :Sal ammoniac or Salammoniac, is a rare naturally occurring mineral composed of
ammonium chloride.

AT AT ATTAIAGTR, HANATH FARSS @ TAT Teh goldT Thfcleh & & IAT S ATell Wit
gl

3.The unit of which physical quantity is not Pascal?
g #ifas afr $r sas aha A6 872

1. Moment of inertia /STSca 31TgUT
2. Pressure /&I
3

Stress /9faad

4. Young's modulus / JI[OTH
Explanation :Newton's first law of motion gives the definition of moment of Inertia.

=T & AT 1 Tgell e ST5ca 3mepT H afRe T &ar &

4.Which among the following is not a characteristic of oxidation reaction?
frafaf@a & @ Fia ifedeor sfatrar & JFdwar 78 &2
1. Itinvolves addition of hydrogen /38 3TRTHAT & gIS3I 93 Il &
2. ltinvolves addition of oxygen /8 3f&fshar # fferdiceT S5 e &
3. Itinvolves loss of electrons /38 31TATHAT F Solacial TehdleT giell &
4. ltinvolves addition of electronegative element. /38 3AfHAT A gelFlIeaded 3 ST
gl

Explanation : Oxidation reactions are those reactions in which there is loss of electron, gain of
oxygen or electronegative element, loss of hydrogen.

mmamﬁ%msﬁaﬁﬂﬁﬁﬁﬁﬁmmw
HUNcHE dcd &7 Wit gl &, Tdgrsalae &1 gifer gy &

5.Which of the following glands secret growth hormone?

Frfaf@d & @ &l & I gefer gl &1 Fa w82
1. Adrenal / 3ifeige
2. Pituitary Gland/ 9/ aify
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3. Pancreas / 3312T

4. Thyroid/ UTsss

Explanation : Pituitary gland is known as master gland. It controls the quantity of secretion of all
other glands presents. It secretes the growth hormone and stimulates the thyroids and parathyroid

glands. / 9IY Y & AR ;A o Fgd ¥ IE gER IMRAAT & JAT 3o Faor & FafHa
A &1 TG JETA-gTAIT & 1T FLAT § AT YRRISS T WSS Y & =07 gl

6.Which physical quantity is measured in "Siemens?
frg #ifds Ofy &1 #ve 9T F fhar Srar g2
1. Electric potential/ faegd fasra
2. Electric conductance/ fdegd drelehclr
3. Magnetic flux/ Ieehrg e
4. Refractive index/ 39ddielish

Explanation : Electrical conductance it is the ability of electric charge (basically electrons) to pass
through a medium. Unit is seimens or mho./faegd TRdI3TaRr 1 fhdly ATETH & IR (el T

U SoFlAl) dI &THACT B SHHT AHF Iflc AT AT Fglg |

7.Addition of suitable impurties into semiconductor, is called?
3TeaTeleh A IYGFAIREUA3N HT A HT FThgd &2
1. Doping/3ifdar
2.  Mixing/fsor
3. Forming/&qur
4. Diluting/dsJehoT
Explanation : It's the process of adding impurities in the semiconductor so the conductivity of
material will increase, depending upon the type of impurity added semiconductor will become either

P-type or N-type./3g 3TeieTereh & 3RIGfAET &l [AeThr Uishar § 0o e & qerdiehl reishel 56
SiTealt, T A IRABREHT & YR & YR 9 37EEreeh I df P-ShR AT N-ThR i
ST |

8.An eudiometer measures........ ?
gfsar Mex ... & AT T &2
1. Atmospheric pressure/ agHST ETe
2. Time/ §H T
3. Volume of gases/ 3 T AT
4. Vapour pressure/ arsq gIa

Explanation : A eudiometer is a laboratory device that measures the change in volume of a gas
mixture following a physical or chemical change./Zf3311#leX Ush YAETRITT 3Ua0T & ST Teh e

a7 TEafas aRadsT & e 3T & AT HI AT H IRGdeT D AT g

9.Rectifiers convert....... ?

fasear.......... gRafdd & &l
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High voltage to low voltage / 3T dlecsl &l & dlecol H
Low voltage to high voltage/ && dlecst HI 3Td dlecsl &
ACto DC/ AC&I DCH
DCto AC/DC& ACH

el A

Explanation : A rectifier is an electrical device that converts alternating current (AC), which
periodically reverses direction, to direct current (DC), which flows in only one direction./XfFecHRR

Teh QETfaegd 3UIUT § S YedTach URT (AC)H! dhael Teh o 7 dga arell fgse arr # aRafdd
T gl

Al & O F Ao &?
1. Solvent / [dem s
2. Dissolved substance / @I gereT
3. Colloid / FIess
4. Suspension / foeree

Explanation : The solute is the substance that is being dissolved by another substance. Solvent - The
solvent is the substance that dissolves the other substance.

oo a5 ward § Sl 3= 9er garT Gremendrg | [Aes - e a8 qerd § S gy
e Fr gl |

11.Which one among the following is a covalent compound?
fFAfai@d & & Fid v dgadiers Al g2
1. Calcium chloride / HToRRIH FaARTSS
2. Magnesium fluoride / HIATRITH FARISS
3. Sodium chloride / BI3Td FARES
4

Carbon tetrachloride/ 1o CTFARTSS

Explanation : A covalent compound is a molecule formed by covalent bonds, in which the atoms
share one or more pairs of valence electrons. Covalent bonds form when two nonmetallic atoms
have the same or similar electronegativity values.

[FgEdIsh faeh geadorh at garn AfFdass] &, fSes waAw] veh v it @3el gerererEt
& SIS AT Fd §| GeHdlolh S8 A Seicl § Sid &l 3T WA H SR IT eEaaTeT
fegasoncAsar gidie |

12. For which one of the following, ‘Diodes’ are generally used for?
SRS ATATd fohd FH3TANT HAISITAT §7?
1. Rectification / f&SeaRY
2. Amplification / ya¥i&
3. Modulation / ATgIeerT
4. Filtration/ [S¥dea
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Explanation : A diode is a two-terminal electronic component that conducts current primarily in one
direction; it has low resistance in one direction, and high resistance in the other./3RS a-cf@ae

aTell U VAT oo 3USUT BT § S 7T & § U 0 & GRT &7 9a18 Fr §; SHH
T fem #F gfery Hrar qudr e & sfadr g |

13.Green coating of copper is due to the formation of ....... ?
did & IWET Rd Fash AR HROT gidr 82
1. Copper sulphide/ IR TehIss
2. Copper carbonate/ HIUT HIafee
3. Copper Chloride/ MR FARSS
4. Copper nitrate/ AT ATSCC

Explanation : Copper Carbonate (often called copper carbonate or cupric carbonate) is a blue-green
compound (chemical formula CuCO3).

IR FHEfe (S8 IFE HII Frefee I FTGWeh Frefae Hel Sl §) Th HAel-gr Afs
(s FF CuCo3) Bl

14. Which of the following is free-floating hydrophytes?
fAefaf@d & @ i a1 Hr-rfeer gedivEeg &2

1. Azolla /37SirerT
2. Wolffia /atfewar
3. Spirodella /RRSar

4. All of these / J&si
Explanation : Hydrophytes are plants that grow in regions, where, there is plenty of water.These
plants float freely on the surface of water but are not rooted in the soil. For example Eichhornia,
Pistia, Wolffia, and Lemna.

gESIhEcH U 9iYr gidg o e Sier arer &1 & 3970 &1 & 9iYY Ol 7 Tdg W Tadd & I
R & 3eror & v soifaar, Rftear, aifewar ik e

15.A semiconductor has:

Teh 3eareleh weldle:
1. A negative temperature coefficient /WWW
2. A positive temperature coefficient /WWW
3. Zero/ Sl

4. None of these /378 ¥ &IS Tl

Explanation : A negative coefficient for a material means that its resistance decreases with an
increase in temperature. Semiconductor materials (carbon, silicon, and germanium) typically have
negative temperature coefficients of resistance.

el gerd & AT Ueh HOTCHSATIIONS HT Adeld ¢ o AIAT F geftr & g g giakre
FH 8 ST §1 e gerdi(aresT, Rfee 3t sdETd) &7 3mady 9T RoncAsg R
9T 0TI BIelT

16.The pendulum watches became slowed down in summer because-
At 3 Sgomr af¥at Ol o o § it
1. Of longer summer day /31f8% oes 3t & o7 Y g8 &
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2. The weighty of the pendulum is increased in summer /3131 & Ygeld & HR TG ST &
3. Pendulum becomes elongate /9geld I TFATS 96 ST §
4. All of these / 3WRierd @Y

Explanation : In summer the temperature is high and this causes length of metal wire to increase
significantly causes to increase the time period of pendulum and this makes the clock slower
whereas in winter the temperature is low sothe metal wire contracts and this causes to decrease the
time period of pendulum and makes the pendulum faster.

A T AIHAGT TS g T Tl ¥ USolA I EIS BT qG STl § Bolcd: SHPT Taciehlel
g ¥ T3 el g1 Sy ¥ St Iicat F dvA FH 8T § T dR I s FH 8 T o
$HHI HTaciehlel e &1 STdle HRUSAH HT a1f 9 el gl

17.Which one of the following pairs is correctly matched?
Prfafad # ¥ # @ 7 g
1. Silver lodide — Horn Silver /f&eaT 3MAIEEs — 8l AeaX
2. Silver Chloride — Artificial rain /ffieaR FeiR1Igs —HREA TR
3. Zinc Phosphide— Rat poison / &l BEHISS —g AR I F6L
4. Zinc Sulphide—- Philosopher’s wool / f5ie Tewss —greifas 3
Explanation : Zinc Phosphide is used as a rodenticide. Zn3P, is a semiconductor.
fSieh BIEHISS &1 YT Teh Focehall2N & & F AT ST §1 Zn3P2 Teh 37efareiesh §

Philosopher's wool is the name for zinc oxide (ZnO), an inorganic compound that is white in color
and has a powdery texture. It is also known as flowers of zinc.

Chlorargyrite is a mineral of AgCl ( silver ore ) is polished by desert wind and dust to the dull luster of
a cow horn, hence the name "horn silver".

Artificial rain is produced by seeding clouds with Silver lodide.

18.Which of the following gets converted to phosgene, when exposed to sunlight?

ot 3 @ a1 grar & el & G 7 3 Whicsis A aRafdd g srar &
1. Chloroform /FeRI%TeT
2. Acetone /TdreiT
3. Benzene /s
4. Propylene / 9iqeiled

Explanation : Phosgene can form from chloroform, in presence of oxygen and UV light.
At room temperature phosgene is a poisonous gas.

Hfereioter 3R I yeprer & 3UTEATT HFeRIBA BlEheT 7 dee bl §1FA & dTAT RN
BIEST Th Sgdel 39 T

19. The author of On the Origin of Species is:
3T & IR 36 TehTH o@s Hie:
1. Charles Lyell/ Ired ool
2. Charles Darwin/ aredl sTfdeT
3. Charles Dickens/ aTedr e

4. Aristotle/ 3E]
Explanation : Charles Darwin wrote the 'On the Origin of Species'and was published on 24

November 1859./aTed Sifdel a1 fofld g '3t & RIS 30 Thefisr 124 7ds 1859
I SehIRICT fohaT I



SCIENCE MOST IMPORTANT QUESTIONS/SAMPLE PAPER 20

20. Which one of the following disease is Inheritable?
PRl & & # & SR 82
1. Leukaemia/ wgfehfaar
2. Colour blindness/ 3T gUiTrar
3. Malaria/ #SRT
4. Hepatitis/ gUersfed

Explanation : Some Inheritable diseases are Thalassemia, Sickle Cell Anemia, Angel man Syndrome,
Huntington disease, Hemophilia, Down Syndrome etc.

faige 3nfe &



